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_ Cos” o COS Q¢ 31N O Cos
If A = : . 9 and B =
COS (¢ 31N & sin” o cos s

that o = 55 + &, then show that AB = BA =0
Since we have given a = %* +
= cosa = cos (57T + ,6) = cos 52“ cosﬁfsm sin 8 = (0)cos B—(1)sin B =
—sin g
= sina = sin (2 + ) =sin 2 cos B+ cos 2 sin 8 = (1) cos B+ (0) sin 3 =
cos f3
Now
AB — ( cos? o cos asin a) ( cos? 3 cos sin ,6)
~ \cosasina sin? o cos Bsin 3 sin’ 3
_( (=sinB)® —cosfBsinf cos?3  cosfsinf3
< cos 3 sm 8 cos? B ) <cos Bsin 3 sin? 3 )
. sin ﬂ —cos Bsinf3 cos? 3 cos Bsin 3
N (— cos Bsin 8 cos? 3 ) (COS Bsing  sin?p )
_ sin? 8 —cos(3sin 3 cos? cos Bsin
o (— cos Bsin 3 cos? B ) (cos (Bsin 3 sin’ 3 )
_ sm2 B cos? 3 — cos ﬁ sin’ 3 sin? B cos fsin 8 — sin® 3 cos B sin B
o < cos? B cos Bsin 5 + cos? 5 cos Bsin B — cos? Bsin? B + cos? Bsin? 8 )
= ( ) BA as well. O



